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sin(x+Yy)=sinxcosy+cosxsiny

Sin(x-y)=sinxcosy-cosxsiny

AT XEMAIEENIERE , BIC=FAREE




RANSERNFRZAT

e X RAHBREZAT

COS(X+Y)=Cosxcosy-sinxsiny

RAZENREZAT

COS(X-y)=Cosxcosy+sinxsiny
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‘4 K= 6 tan(x+y)=(tanx+tany)/(1-tanxtany)
¥ - 3) ()H‘ Z.) =0
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1
V= G‘\ i 6 =-6 tan(x-y)=(tanx-tany)/(1+tanxtany)
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i FIA=AESNIEERES
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sin(A+B) = sinAcosB + cosAsinB

FIAINEZERIESHRAMNIEZ AT

sin(A+B) = sinAcosB + cosAsinB

FRIEERESAAMINREZAIN

cos(A+B) = cosAcosB - sinAsinB
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sin(A-B) = sinAcosB - cosAsinB

FIRREERIESHAZENIEZ AT

sin(A-B) = sinAcosB - cosAsinB

SO o JEGr T

cos(A-B) = cosAcosB + sinAsinB
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sin2A = 2sinAcosA , cos2A = cos?A - sinZ2A

HIRERALVESHAHRNIE A

tan(A+B) = (tanA + tanB) / (1 - tanAtanB)

FIREALVESRAZRNRD AT

cot(A-B) = (cotAcotB + 1) / (cotB - cotA)
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